Potencias de 10

©)

2.3915+10?

3.9266 = 10?

6.6257 +10?

2.6946 +— 10?

2.9406 = 10?

6.1549 +10?

7.7791 = 102

4.8295 = 102

5.3347 +10?

9.1416 = 10?

Calcule los siguientes cocientes.

9.78 +10?

4.1816 = 102

7.6657 + 107

7.8296 +— 107

1.2642 = 102

6.0108 +10?

6.9553 +10?

8.7118 =102

2.6665 + 107

8.7752+10°
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Potencias de 10 (C) Respuestas

2.3915+10?
0.023915
3.9266 + 10?
0.039266
6.6257 + 107
0.066257
2.6946 + 10?
0.026946
2.9406 + 107
0.029406
6.1549 + 10?
0.061549
7.7791 < 10?
0.077791
4.8295 = 10?
0.048295
5.3347 = 10°
0.053347
9.1416 + 10?
0.091416

Calcule los siguientes cocientes.

9.78 = 10?
0.0978
4.1816 + 10?
0.041816
7.6657 +10?
0.076657
7.8296 + 10°
0.078296
1.2642 =107
0.012642
6.0108 +~ 10?
0.060108
6.9553 +10?
0.069553
8.7118 =107
0.087118
2.6665 +10°
0.026665
8.7752+ 107
0.087752
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